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3. Addition with carryover
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| | more than 290 is |zq I
3 more than 332 is l3 3
| 5 morethan 43l is ‘ s ¢

~

-

4 more than 578 Is £ X l_{

2 more than 648 s ‘ £
L4 more than 754 is "?. ¢,

| g _
B. Add using carryover and write the answer
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A. Count the quantities, exchange and write the numbers as msirua
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A. Add the quantities and write the answer
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B. Solve the problems using addition

A school library has  Number of English books

mify
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329 English books and :]“‘ 3 2|q
632 Hindi books How  Number of Hindibooks L a " 2
many books does the & 3
| library have in total? Total number of books G 6[ ﬂ 6 ,
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..( When adding numbers, the last digit of “the sum depends on the last digits of the numbers being i
| odded We know 2 + 1+ = 4 Therefore. 192 + 38l =576. The last digit is determined quickly.

C. Analyse the last digits of the sum and circle the answer
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A. Add the quantities and write the answer

[housonds |- Hundreds e Ones | ™ & R
o [ I N ) o Ll §
= EE O S |
] I O3 SIS (¢
S — S

] 3 == mE Y30

] = = = =R
== = 6 1112 |3,

g— ousands Hundreds | Tens Ones | TH H T o
= = - 612 () _1_1.
= mE mmmEoo |37 (s
L = B EECO D :
= = RN = Q13 16 1

B. Solve the problems using addition
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In a parking lot.
there are L7k blue
cars ond |16 red

cars How many cars li
are thereintotal?
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A store has 327
bags of rice and LIk [
bags of wheat. How = I
many bags of grains 3 Ly r
are thereintotal? Y l
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C. Analyse the last digits of the sum and circle the answer !
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, Add the quantities and write the answer
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B Solve the problems using addition

There are 250 gris
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There are 123 apples

- ond LBl boys in the \ and 390 cherries on '
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| totd number of LSO the total number of il i ¢ 3

| students in the fruits on the cart? r

| COosy? + Q ‘3 { + 5 “‘{ O

|?'2] Istudents ? > frults S| 3

; C_ ;:ld the numbers with camryover und write the answer

K 1 o H T 0 H T © T o
| ) || | |\ 1 |
5|86 6|82 1 [3 |8 6|7 W

131518 +|1|3|9] +|w|8|a| «|2|2]|8
AUl w2l ] 62T [Alol®

| m ;?




